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func next vol mode(v) = (v % 5) + 1
switchmodule Theremin {
in dist : Int, btn(False) : Bool
out freq : Int, volume : Int
shared btn_released : Bool, vol mode(l) : Int

init On

shared node btn released = not(btn) && btn@last
shared node vol mode = if btn released then

next vol mode(vol mode@last) else vol mode@last
state On {

node dist avg(Q) = (dist*6 + dist avg@last*4)/10

out node freq = dist _avg

out node volume = vol mode * 20

switch: if dist _avg »>= 1500 then Off() else Retain

}
state Off {

out node freq = 0
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while(1) {
input(&dist, &btn);
switch(state) {
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